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#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)
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NS: Pdst $E{8EGH0) 22 8 NS: So#li4 2185 (BAC) 11 15.23 : 4.77 Total VP: 142.93 Rank:
EW: MiEIEY FiksfEEAC) -11 EW: [RE3E €IZ#%(BAO) -2 IMP:| 27 : 12 8
Y ————————————r T
& AT62 6CN7 940 Mean: 6CN7 940 120 1 |[# 2 » KQ932 5HW5 -450 Mean: 5HWS5 450 3.0 3
v 5CN5400 270 4SN5 450 50 1 v A84 5HW5 -450 -540  5HE5 450 3.0 1
+ KQ96 Dif: 540 NS:12 5CN6 420 40 1 ¢ 8753 Dif: 0 NS:3 4HWS5 450 3.0 2
& AQ832 IMP: 11 EW:-4 5CN5 400 40 2 &3 IMP: 0 EW:-3 4SXN-2 500 1.0 1
& J85 3NN4 430 40 1 ||a » AJ76 5HXW5 650 -3.0 1
v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
¢ JT53 5CN-1 50 80 1||e AQ4 * J6
&T 4SN-1 -50 8.0 1 & AT876 » Q94
» Q43 5CXN-2 -300 -11.0 1 ¢ VAN 4 T35
v T853 N ~1~1~ 9T
* A7 S ~1~1~ ¢ KT92
& J974 E 4~5~3 &KJ52
W 4~5~3
» 9854 3NW3 -600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 3.0 8
v 52 2DN-1-50 -420 2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: -550 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: -11 EW:-9 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
6 4HW4 620 -50 1 ||as AKJ4 & QT92
3NW3 600 -50 5 ||e 952 + v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
aJ8 3NW4 -430 Mean: 1NW4 180 50 1 ||#6 sJ 5DXN5 550 Mean: 5DXN5 550 6.0 3
v 87642 3NW3 -400 -360 1NW5 210 40 2 v A754 4DN5 150 290  5DN5 400 3.0 2
¢ T95 Dif: -30 NS:-2 3NW3 400 1.0 1 + KQ954 Dif: 400 NS:6 4DN5 150 4.0 2
» Q97 IMP: -1 EW:1  3NW4 430 20 3 & A43 IMP: 9 EW:4 2CS5 150 4.0 1
a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
+ Q872 ¢ T6 * A7
& AKJ a»T7 » Q92
» AQ973 * ¢V AN 4, Q532
v K3 N 55~~~
* K4 S 55~~~ ¢J832
& 8652 E ~~11~ &KJ865
W ~~11~
» 83 3HW-2 200 Mean: 3HW-2 200 30 3||#8 » Q72 2DN3 110 Mean: 3DN3 110 20 1
v A985 2SS3 140 110  3SS4 170 2.0 1 v 9853 3NS-2-100 40  2SS2 110 20 1
¢ 874 Dif: 60 NS:3 2SS3 140 1.0 1 + KQ62 Dif: 210 NsS:2 2DS3 110 20 1
& AKT7 IMP: 2 EW:-1 2SN3 140 1.0 2 & K9 IMP: 5 EW:4 2DN3 110 20 1
a 52 2NN2 120 00 1 [|as A8 a T954 18s2 110 20 1
+ v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
* AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
S » QJ92 » Q7654 » T832 3NS-2 4100 40 1
& AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
v 32 N ~3222 v A74
¢ T53 S ~3222 ¢J843
& 53 E 2~~~~ aAJ
W 2~~~-~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

2 NS: #aEst EUREEGHO) 20 4 NS: #hi53H 5iE&(BAC) -1 15.75 : 4.25 Total VP: 145.54 Rank:
EW: BIEZ B2EEI0) 1 EW: EInss AR EN(BAO) -2 IMP:} 21 : 4 7
I I -
#1 & AT62 5CN5 400 Mean: 6CN7 940 120 1 ||# 2 » KQ932 4HWS5 -450 Mean: 5HWS5 450 3.0 3
v 4SN-1-50 270  4SN5 450 50 1 v A84 4HWS5 -450 -540  5HE5 450 3.0 1
+ KQ96 Dif: 450 NS:4 5CN6 420 40 1 ¢ 8753 Dif: 0 NS:3 4HWS5 450 3.0 2
& AQ832 IMP: 10 EW:8 5CN5 400 40 2 &3 IMP: 0 EW:-3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
* K65 aT 4SN-1 50 80 1 ||a AT876 » Q94
d VAN 4Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N~1~1~+T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3SXN-3 -500 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 3.0 8
v 52 3NW3 -600 -420 2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: 100 NS:-2 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: 3 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
» 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 1NW5 -210 Mean: 1NW4 180 50 1 #6 s J 5DN5 400 Mean: 5DXN5 550 60 3
v 87642 3NW5 -460 -360 1NW5 210 40 2 v A754 5DXN5 550 290  5DN5 400 3.0 2
¢ T95 Dif: 250 NS:4 3NW3 400 1.0 1 + KQ954 Dif: -150 NS:3 4DN5 150 4.0 2
» Q97 IMP: 6 EW:3 3NW4 430 20 3 & A43 IMP: -4 EW:-6 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
¢ VBN 4, AQI73 o ¢ VAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3HW-2 200 Mean: 3HW-2 200 30 3 ||#8 » Q72 1SS2 110 Mean: 3DN3 10 20 1
v A985 3HW-2200 110  3SS4 170 2.0 1 v 9853 1NW-150 40  2SS2 110 20 1
¢ 874 Dif: 0 NS:3 2SS3 140 1.0 1 + KQ62 Dif: 60 NS:2 2DS3 10 20 1
& AKT7 IMP: 0 EW:-3 2SN3 140 1.0 2 & K9 IMP: 2 EW:0 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 S » QJ92 » Q7654 » T832 3NS-2 100 40 1
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

3 NS: 5 B (3H0) -33 10 NS: 2B SHHE(BAC) 14 0.50 19.50 | Total VP: 182.40 Rank:
EW: #{—E BESFEEAC) -14 EW: E3Z5E 5REH(BAO) 33 IMP:| 7 : 45 3
I Y ————— YTy T
#1 & AT62 4CN4 130 Mean: 6CN7 940 120 1 |[# 2 » KQ932 5HXWS5 -650 Mean: 5HWS5 450 3.0 3
v 3NN4 430 270 4SN5 450 50 1 v A84 4SXN-2 -500 -540 5HES 450 3.0 1
+ KQ96 Dif: -300 NS:-4 5CN6 420 40 1 ¢ 8753 Dif: -150 NS:-3 4HW5 450 3.0 2
& AQ832 IMP: -7 EW:-4 5CN5 400 40 2 &3 IMP: -4 EW:-1 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 5HS-1-100 Mean: 4HS4 620 3.0 8
v 52 3DN-3 -150 -420 2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: -450 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: -720 NS:-12 5HS-1 100 120 1
IMP: -10 EW:-7 3SXN-3 500 -20 1 & AQ6 IMP: -12 EW:-3
6 4HW4 620 -50 1 ||as AKJ4 & QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 1NW4 180 50 1 #6 s J 4DN5 150 Mean: 5DXN5 550 60 3
v 87642 1NW4 -180 -360 1NW5 210 40 2 v A754 5DN5 400 290 5DN5 400 3.0 2
¢ T95 Dif: -250 NS:-2 3NW3 400 1.0 1 + KQ954 Dif: -250 NS:-4 4DN5 150 4.0 2
» Q97 IMP: -6 EW:-5 3NW4 430 20 3 & A43 IMP: -6 EW:-3 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N 55~~~
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2NN2 120 Mean: 3HW-2 200 30 3||#8 » Q72 3NN-1-50 Mean: 3DN3 10 20 1
v A985 4SN-1-100 110  3SS4 170 2.0 1 v 9853 1NW1-90 40  2SS2 110 20 1
¢ 874 Dif: 220 NsS:0 2SS3 140 1.0 1 + KQ62 Dif: 40 NS:-3 2DS3 10 20 1
& AKT7 IMP: 6 EW:5 2SN3 140 1.0 2 & K9 IMP: 1 EW:4 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 » QJ92 » Q7654 » T832 3NS-2 100 40 1
o O¢VAN o AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

4 NS: #8531 FEGEAC) -1 2 NS: #EEH 2l F0) 20 4.25 15.75| Total VP: 126.40 Rank:
EW: $i5s58 {a[52Eh(BH0) 20 EW: 8lfE& 5Ei5(BAC) 1 IMP:| 4 21 10
I I -
#1 & AT62 5CN5 -400 Mean: 6CN7 940 120 1 ||# 2 » KQ932 4HWS5 450 Mean: 5HWS5 450 3.0 3
v 4SN-150 270  4SN5 450 50 1 v A84 4HW5 450 -540  5HE5 450 3.0 1
+ KQ96 Dif: -450 NS:-8 5CN6 420 40 1 ¢ 8753 Dif: 0 NS:3 4HWS5 450 3.0 2
& AQ832 IMP: -10 EW:-4 5CN5 400 40 2 &3 IMP: 0 EW:-3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3SXN-3 500 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 -620 Mean: 4HS4 620 3.0 8
v 52 3NW3 600 -420 2DN-1 50 9.0 1 v A864 4HS4 -620 500  2HS4 170 8.0 1
+ KT9764 Dif: -100 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: -3 EW:2 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
» 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 1NW5 210 Mean: 1NW4 180 50 1 #6 s J 5DN5 -400 Mean: 5DXN5 550 60 3
v 87642 3NW5 460 -360 1NW5 210 40 2 v A754 5DXN5 -550 290  5DN5 400 3.0 2
¢ T95 Dif: -250 NS:-3 3NW3 400 1.0 1 + KQ954 Dif: 150 NS:6 4DN5 150 4.0 2
» Q97 IMP: -6 EW:-4 3NW4 430 20 3 & A43 IMP: 4 EW:-3 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~n~~~ v K3 N55~~~w
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3HW-2 -200 Mean: 3HW-2 200 30 3||#8 » Q72 1SS2 -110 Mean: 3DN3 10 20 1
v A985 3HW-2 -200 110  3SS4 170 2.0 1 v 9853 1NW-1-50 40  2SS2 110 20 1
¢ 874 Dif: 0 NS:3 2SS3 140 1.0 1 + KQ62 Dif: -60 NS:0 2DS3 10 20 1
& AKT7 IMP: 0 EW:-3 2SN3 140 1.0 2 & K9 IMP: -2 EW:-2 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 S » QJ92 » Q7654 » T832 3NS-2 100 40 1
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

5 NS: BREER) BRREEGHO) -26 7 NS: BREH BREI5(BAC) -11 4.25 15.75| Total VP: 194.58 Rank:
EW: MR #EEEIC) 11 EW: =255 BEE(BAO) 26 IMP:| 3 20 1
I I
#1 & AT62 5CXN-2 -300 Mean: 6CN7 940 120 1 |[# 2 » KQ932 4SXN-3 -800 Mean: 5HWS5 450 3.0 3
v 5CN-1-50 270  4SN5 450 50 1 v A84 5HW5 -450 -540  5HE5 450 3.0 1
+ KQ96 Dif: -250 NS:-11 5CN6 420 40 1 ¢ 8753 Dif: -350 NS:-6 4HW5 450 3.0 2
& AQ832 IMP: -6 EW:8 5CN5 400 40 2 &3 IMP: -8 EW:-3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 -600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 620 Mean: 4HS4 620 3.0 8
v 52 4HW4 -620 -420  2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: 20 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: 1 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
» 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 -430 Mean: 1NW4 180 50 1 #6 s J 5DXN-1-100 Mean: 5DXN5 550 60 3
v 87642 3NW5 -460 -360 1NW5 210 40 2 v A754 2CS5150 290  5DN5 400 3.0 2
¢ T95 Dif: 30 NS:-2 3NW3 400 1.0 1 + KQ954 Dif: -250 NS:-9 4DN5 150 4.0 2
» Q97 IMP: 1 EW:3 3NW4 430 20 3 & A43 IMP: -6 EW:4 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N55~~~w
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3SS4 170 Mean: 3HW-2 200 30 3||#8 » Q72 3DN3 110 Mean: 3DN3 10 20 1
v A985 2SN3 140 110  3SS4 170 2.0 1 v 9853 2SS2110 40  2SS2 110 20 1
¢ 874 Dif: 30 NsS:2 2SS3 140 1.0 1 + KQ62 Dif: 0 NS:2 2DS3 10 20 1
& AKT7 IMP: 1 EW:-1 2SN3 140 1.0 2 & K9 IMP: 0 EW:-2 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 » QJ92 » Q7654 » T832 3NS-2 100 40 1
o O¢VAN o AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

6 NS: #4855 BREFEGHO) -5 9 NS: #4818 BRIZEF(BAC) 12 4.25 15.75| Total VP: 186.05 Rank:
EW: #F5t #RraEE0) -12 EW: EI7K EHBAE(BAO) 5 IMP:| 19 36 2
I I
#1 & AT62 4SN5 450 Mean: 6CN7 940 120 1 |[# 2 » KQ932 4SXN-3 -800 Mean: 5HWS5 450 3.0 3
v 5CN6 420 270  4SN5 450 50 1 v A84 5HE5 -450 -540  5HE5 450 3.0 1
+ KQ96 Dif: 30 NS:5 5CN6 420 40 1 ¢ 8753 Dif: -350 NS:-6 4HW5 450 3.0 2
& AQ832 IMP: 1 EW:-4 5CN5 400 40 2 &3 IMP: -8 EW:-3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 5CW-1 100 Mean: 5CW-1 100 11.0 1 [|#4 » 853 2HS4 170 Mean: 4HS4 620 3.0 8
v 52 3NW3 -600 -420  2DN-1 50 9.0 1 v A864 4HS4 620 500 2HS4 170 8.0 1
+ KT9764 Dif: 700 NS:11 3DN-3 4150 7.0 1 ¢ J97 Dif: -450 NS:-8 5HS-1 100 120 1
IMP: 12 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: -10 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NWS5 -460 Mean: 1NW4 180 50 1 #6 s J 2HW-1100 Mean: 5DXN5 550 60 3
v 87642 1NW5 -210 -360 1NW5 210 40 2 v A754 5DXN5 550 290  5DN5 400 3.0 2
¢ T95 Dif: -250 NS:-3 3NW3 400 1.0 1 + KQ954 Dif: -450 NS:-5 4DN5 150 4.0 2
» Q97 IMP: -6 EW:-4 3NW4 430 20 3 & A43 IMP: -10 EW:-6 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N55~~~w
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 140 Mean: 3HW-2 200 30 3||#8 » Q72 1NW-1 50 Mean: 3DN3 10 20 1
v A985 4SS-1-100 110  3SS4 170 2.0 1 v 9853 2DS3110 40  2SS2 110 20 1
¢ 874 Dif: 240 NsS:1  2SS3 140 1.0 1 + KQ62 Dif: -60 NS:0 2DS3 10 20 1
& AKT7 IMP: 6 EW:5 2SN3 140 1.0 2 & K9 IMP: -2 EW:-2 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 » QJ92 » Q7654 » T832 3NS-2 100 40 1
o O¢VAN o AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

7 NS: B BRERGERC) -11 5 NS: BRES) 15 RAE(BO) -26 15.75 : 4.25 Total VP: 178.63 Rank:
EW: BiE7 FREE5EE0) 26 EW: #tiRiE MEE(BAC) 11 IMP:| 20 3 4
I I
#1 & AT62 5CXN-2 300 Mean: 6CN7 940 120 1 |[# 2 » KQ932 4SXN-3 800 Mean: 5HWS5 450 3.0 3
v 5CN-150 270 4SN5 450 50 1 v A84 5HW5 450 -540 5HES 450 3.0 1
+ KQ96 Dif: 250 NS:-8 5CN6 420 40 1 ¢ 8753 Dif: 350 NS:3 4HW5 450 3.0 2
& AQ832 IMP: 6 EW:11 5CN5 400 40 2 &3 IMP: 8 EW:6 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 -620 Mean: 4HS4 620 3.0 8
v 52 4HW4 620 -420 2DN-1 50 9.0 1 v A864 4HS4 -620 500  2HS4 170 8.0 1
+ KT9764 Dif: -20 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: -1 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
» 52 » 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 430 Mean: 1NW4 180 50 1 #6 s J 5DXN-1 100 Mean: 5DXN5 550 60 3
v 87642 3NW5 460 -360 1NW5 210 40 2 v A754 2CS5-150 290  5DN5 400 3.0 2
¢ T95 Dif: -30 NS:-3 3NW3 400 1.0 1 + KQ954 Dif: 250 NS:-4 4DN5 150 4.0 2
» Q97 IMP: -1 EW:2 3NW4 430 20 3 & A43 IMP: 6 EW:9 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3SS4 -170 Mean: 3HW-2 200 30 3||#8 » Q72 3DN3 -110 Mean: 3DN3 10 20 1
v A985 2SN3 -140 110  3SS4 170 2.0 1 v 9853 2SS2-110 40  2SS2 110 20 1
¢ 874 Dif: -30 NS:1  2SS3 140 1.0 1 + KQ62 Dif: 0 NS:2 2DS3 10 20 1
& AKT7 IMP: -1 EW:-2 2SN3 140 1.0 2 & K9 IMP: 0 EW:-2 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 S » QJ92 » Q7654 » T832 3NS-2 100 40 1
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

8 NS: SEgf4 2218¥EEIC) 11 1 NS: &R $B{ZH(F0) 22 4.77 15.23 | Total VP: 168.36 Rank:
EW: B%ﬁfﬁ gﬂg.ﬁ(sﬁo) 22 EW: BREI B 3 iA(BAC) 1 IMP:| 12 : 27 5
. —————————rryr
#1 4AT62 GCN7 -940 Mean: 6CN7 940 120 1 |[# 2 » KQ932 5HWS5 450 Mean: 5HWS5 450 3.0 3
5CN5 -400 270  4SN5 450 50 1 v A84 5HW5 450 -540 5HES 450 3.0 1
o KQ96 Dif: -540 NS:4 5CN6 420 40 1 ¢ 8753 Dif: 0 NS:3 4HWS5 450 3.0 2
& AQ832 IMP: -11 EW:-12 5CN5 400 40 2 &3 IMP: 0 EW:-3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 4HS4 -620 Mean: 4HS4 620 3.0 8
v 52 2DN-1 50 -420 2DN-1 50 9.0 1 v A864 4HS4 -620 500  2HS4 170 8.0 1
+ KT9764 Dif: 550 NS:9 3DN-3 4150 7.0 1 ¢ J97 Dif: 0 NS:3 5HS-1 100 120 1
IMP: 11 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: 0 EW:-3
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 430 Mean: 1NW4 180 50 1 #6 s J 5DXN5 -550 Mean: 5DXN5 550 60 3
v 87642 3NW3 400 -360 1NW5 210 40 2 v A754 4DN5 -150 290  5DN5 400 3.0 2
¢ T95 Dif: 30 NS:-1  3NW3 400 1.0 1 + KQ954 Dif: -400 NS:-4 4DN5 150 4.0 2
» Q97 IMP: 1 EW:2 3NW4 430 20 3 & A43 IMP: -9 EW:-6 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 3HW-2 -200 Mean: 3HW-2 200 30 3||#8 » Q72 2DN3 -110 Mean: 3DN3 10 20 1
v A985 2SS3 -140 110  3SS4 170 2.0 1 v 9853 3NS-2100 40  2SS2 110 20 1
¢ 874 Dif: -60 NS:1 2SS3 140 1.0 1 + KQ62 Dif: -210 NS:-4 2DS3 10 20 1
& AKT7 IMP: -2 EW:-3 2SN3 140 1.0 2 & K9 IMP: -5 EW:-2 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 S » QJ92 » Q7654 » T832 3NS-2 100 40 1
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1: 5 BkIEIE(194.58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

9 NS: PR BRIZEREAC) 12 6 NS: 8 BRiEZE(BIO) -5 15.75 : 4.25 Total VP: 145.86 Rank:
EW: EEJjJ,m EREEO) 5 EW: ¥ 518 #&MiE(BAC) 1 IMP:| 36 19 6
I
#1 'y AT62 4SN5 -450 Mean: 6CN7 940 120 1 |[# 2 » KQ932 4SXN-3 800 Mean: 5HWS5 450 3.0 3
v 5CN6 -420 270  4SN5 450 50 1 v A84 5HE5 450 -540  5HE5 450 3.0 1
+ KQ96 Dif: -30 NS:4 5CN6 420 40 1 ¢ 8753 Dif: 350 NS:3 4HW5 450 3.0 2
& AQ832 IMP: -1 EW:-5 5CN5 400 40 2 &3 IMP: 8 EW:6 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 5CW-1-100 Mean: 5CW-1 100 11.0 1 [|#4 » 853 2HS4 -170 Mean: 4HS4 620 3.0 8
v 52 3NW3 600 -420 2DN-1 50 9.0 1 v A864 4HS4 -620 500  2HS4 170 8.0 1
+ KT9764 Dif: -700 NS:-5 3DN-3 4150 7.0 1 ¢ J97 Dif: 450 NS:3 5HS-1 100 120 1
IMP: -12 EW:-11 3SXN-3 500 -20 1 & AQ6 IMP: 10 EW:8
6 4HW4 620 -50 1 ||as AKJ4 & QT92
3NW3 600 -50 5 ||w 952 _|_ v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW5 460 Mean: 1NW4 180 50 1 #6 s J 2HW-1 -100 Mean: 5DXN5 550 60 3
v 87642 1NW5 210 -360 1NW5 210 40 2 v A754 5DXN5 -550 290  5DN5 400 3.0 2
¢ T95 Dif: 250 NS:4 3NW3 400 1.0 1 + KQ954 Dif: 450 NS:6 4DN5 150 4.0 2
» Q97 IMP: 6 EW:3 3NW4 430 20 3 & A43 IMP: 10 EW:5 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N55~~~w
S ~~~~~ * K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2SN3 -140 Mean: 3HW-2 200 30 3||#8 » Q72 1NW-1 -50 Mean: 3DN3 10 20 1
v A985 4SS-1100 110  3SS4 170 2.0 1 v 9853 2DS3 110 40  2SS2 110 20 1
¢ 874 Dif: -240 NsS:-5 2SS3 140 1.0 1 + KQ62 Dif: 60 NS:2 2DS3 10 20 1
& AKT7 IMP: -6 EW:-1 2SN3 140 1.0 2 & K9 IMP: 2 EW:0 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 » QJ92 » Q7654 » T832 3NS-2 100 40 1
o O¢VAN o AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




112 £ F > A EHEHL 2RR2 =

=> RT

#1:5 ﬁETﬁE$(194 58) #2: 6 %ﬁ‘m(l% 05) #3: 3 FIE(182.4)

1 O NS: FRI7FH =OLEEAC) 14 3 S: &IiF5 PREER(FHO) -39 19.50 : 0.50 Total VP: 128.25 Rank:
EW: £ 258 RESEHO) 33 EW: #F{_E BRFR(BAC) 1 IMP:| 45 : 7 9
I Y ————rE YT
#1 & AT62 4CN4 -130 Mean: 6CN7 940 120 1 |[# 2 » KQ932 5HXWS5 650 Mean: 5HWS5 450 3.0 3
v 3NN4 -430 270  4SN5 450 50 1 v A84 4SXN-2 500 -540 5HES 450 3.0 1
+ KQ96 Dif: 300 NS:4 5CN6 420 40 1 ¢ 8753 Dif: 150 NS:1 4HW5 450 3.0 2
& AQ832 IMP: 7 EW:4 5CN5 400 40 2 &3 IMP: 4 EW:3 4SXN-2 500 1.0 1
» K97 & J85 3NN4 430 40 1 ||a & AJ76 5HXW5 650 -3.0 1
v KQ72 v AJ964 4CN4 130 40 1 ||v J9632 I v KQ75 4SXN-3 800 -6.0 2
* 842 ¢ JT53 5CN-1 50 80 1||e AQ4 * J6
+ K65 &T 4SN-1 -50 8.0 1 & AT876 » Q94
® VAN ,Q43 5CXN-2 300 -11.0 1 *oVAN 4, T854
N 5~~32 ¢T853 N ~1~1~ 9T
S 5~~32 ¢A7 S ~1~1~ ¢ KT92
E ~~1~~ &J974 E 4~5~3 &KJ52
W-~~1~~ W 4~5~3
#3 » 9854 3NW3 600 Mean: 5CW-1 100 11.0 1 [|#4 » 853 5HS-1100 Mean: 4HS4 620 3.0 8
v 52 3DN-3 150 -420  2DN-1 50 9.0 1 v A864 4HS4 -620 500  2HS4 170 8.0 1
+ KT9764 Dif: 450 NS:7 3DN-3 4150 7.0 1 ¢ J97 Dif: 720 NS:3  5HS-1 100 120 1
IMP: 10 EW:5 3SXN-3 500 -20 1 & AQ6 IMP: 12 EW:12
4HW4 620 -50 1 & AKJ4 » QT92
3NW3 600 -50 5 ||w 952 + v3
+ Q852 ¢ AT64
4 & 52 & 9873
oo VAN ,76
N 3 ~4~2 v KQJT7
S 3~4~2 ¢K3
E ~2~2~ aKJT4
W ~2~2 ~
#5 4 J8 3NW4 430 Mean: 1NW4 180 50 1 #6 s J 4DN5 -150 Mean: 5DXN5 550 60 3
v 87642 1NW4 180 -360 1NW5 210 40 2 v A754 5DN5 -400 290  5DN5 400 3.0 2
¢ T95 Dif: 250 NS:5 3NW3 400 1.0 1 + KQ954 Dif: 250 NS:3 4DN5 150 4.0 2
» Q97 IMP: 6 EW:2 3NW4 430 20 3 & A43 IMP: 6 EW:4 2CS5 150 4.0 1
& KT64 a 52 3NW5 460 -3.0 3 ||a AK76 » T984 2HW-1 100 5.0 1
v AQ v JT95 v T9832 — v KQJ6 5DXN-1 100 9.0 1
¢ AJ63 + Q872 ¢ T6 * A7
& T43 & AKJ a»T7 » Q92
d ¢ VAN 4 AQI73 B oVAN 4 Q532
N ~~~~~ v K3 N 55~~~
§ ~~~~~ + K4 S 55~~~ ¢J832
E ~6~~6 &8652 E ~~11~ &KJ865
W ~6~~6 W ~~11~
#7 » 83 2NN2 -120 Mean: 3HW-2 200 30 3||#8 » Q72 3NN-1 50 Mean: 3DN3 10 20 1
v A985 4SN-1100 110  3SS4 170 2.0 1 v 9853 1NW190 40  2SS2 110 20 1
¢ 874 Dif: -220 NsS:-5 2SS3 140 1.0 1 + KQ62 Dif: -40 NS:-4 2DS3 10 20 1
& AKT7 IMP: -6 EW:0 2SN3 140 1.0 2 & K9 IMP: -1 EW:3 2DN3 110 20 1
» J96 a 52 2NN2 120 00 1 ||a A8 a T954 18s2 110 20 1
v KJT7 + v Q64 4SS-1 100 50 1 ||e JT2 v KQ6 1NW-1 50 00 2
+ K96 * AQJ2 4SN-1 100 50 1 ||e AT7 ¢ 95 3NN-1 50 3.0 1
& 864 S » QJ92 » Q7654 » T832 3NS-2 100 40 1
% ¢ VAN o, AKQT74 oo VAN 4, KIE3 1NW1 -90 4.0 1
N ~~~33 ¢32 N ~3222 v A74
S ~~~33 ¢T53 S ~3222 ¢J843
E ~1~~~ &53 E 2~~~~ aAJ
W ~1~~+~ W 2 ~~~~




